





- —— — 2 0
4 >
Q o \ L 4
A
- oAy . A K o (A (-4 >
A
= 1

s § 2[4 < 0-C)- 1
: (e qudliikir wte da)

( " o W L =
e [/(03 Xj/‘ = e A 6—»9‘. '(K% Oo






LR - R
Q‘M"L)  — 4»(\‘4‘)(7/)
L(3443) - 4)

/ 4
(5

Y+lie= C;‘L)J—L(':,) = ,(1_)




(ﬁ\{’/ ()(0,\/,) = SAuau—a erS oSa \'\)‘8&3 OM S 6






okvw.\oa waedee oU\«M.-._gAM\
_:Fm.,(,.(;\. &/ gc&c Xe

TaeRal cloenc
T(R)= 4(R) + V4R (";";—xo)



1)')—'= x- g:o7/

/—(K/?O = Q\’.uy / /Ck,)l) s X - COS7

Y

Conants

ca\wcL

®



2 ¢ s
0, TE ooy

_(° 7
N

U/ /I

Mia. [Taux
H ?OQ« &4 H Wa«z.&e{—-

/77\777/\ o
W &«J«:{-ﬁuﬁ{'
/[




